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FrafafRaa et = aga @ @ ufew 3t ST urem il
()  FEIFT-TT 430 978 | @t 597 STHA B |
(i) FT-9F Gre GUSI § [ 8 -GS @, &, W, gUT & /
(iii) @O - : g7 qEIr 1 @12 % TglabcdiT go7 8 |
(iv) @UE— @ :5%7 &7 13 T 18 7% &g I19 JHR & q1-31 3] & Jv7 8 | 9%
F97 &7 I 50 5] @ 371% 781 §7 TET |
(v) U8 —T ;¥ gET19 23 5 ITIT IHR & AR—R 37 & 97 & | I J97
%7 3R 100 g1 8 3713 787 517 =13 |

(vi) @UE - : 97 GEI1 24 G 26 TF TR, FIg aT I TR F97 & |

(vii) @UE — & : J97 G&I1 27 8 30 41 3 3T IHR & B:-B: Hb) & 97 8 | §9%
797 %7 IR 170 1557 & 378 787 11 11T |

(viii) Fv7-T7 4 HI3 G977 a7 781 8 | TeT F& Fo41 4 Ik [9eHeq H71 Jra€r o7
T 8 | 37 9971 § @ et ek & fdheq BT IR forar 57w |

(ix)  35% 3fAfE, I35 U8 T J9] & Tr¥, T&l 3Ha99% &, 1o U 1w & /
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General Instructions :

Please read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into FIVE Sections — Section A, B, C, D &

E.

(itt)  In section A - Question number 1 to 12 are Multiple Choice (MCQ) type

Questions.

(iv)  In section B - Question number 13 to 18 are Short Answer (SA) type

questions carrying 2 marks each. Answer to these questions should not

exceed 50 words.

(v)  In section C - Question number 19 to 23 are Long Answer (LA) type

questions carrying 4 marks each. Answer to these questions should not

exceed 100 words each.

(vt) In section D - Question number 24 to 26 are passage, cartoon and map-

based questions.

(vit) In section E - Question number 27 to 30 are also Long Answer type

questions carrying 6 marks each. Answer to these questions should not

exceed 170 words.

(viit) There is no overall choice in the question paper. However, an internal choice

has been provided in few questions. Only one of the choices in such

questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.
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frafafiga @ @ 5 a1 <w Aifea ga w1 v adi o ¢
(a) b (b) o
() ech (d) wERiEn

19 9=, 2003 I 3THOGRT 3 3T WX fohd He™ & TR foham o ?
(a) SATRIA S5 &

(b) TR ! ThreH

(c) 3T FHIFRS I

(d) IATIA T e

TR Y 1 T 294 &

(2) F& o foTe FhER = &1 Tk |
(b) ST Fert ! UehT |

(c)  ITIIIRTOT T T |

(d) TROTIIET % Shette i U |

freferfiaa o @ 1 rRrafes Fean & Taid STaT g ?
(a) Torelt U < R ATHATT

(b) T Tepmes T BT Hhe

(c) TS aTfH

(d) 3TdehaTe T foR
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1.  Which one of the following countries was NOT a part of the Soviet Union ? 1
(a) Ukraine (b) Georgia

SECTION - A

(¢) Italy (d) Estonia

2. On 19th March 2003, the US launched its invasion of Iraq under the code

name . 1
(a) Operation Desert Storm

(b) Operation Iraqi Freedom

(¢) Operation Infinite Reach

(d) Operation Enduring Freedom

3. The main objective of United Nations is to 1
(a) prevent manufacture of war weapons.
(b) prevent international conflicts.

(¢) prevent industrialisation.

(d) prevent spread of refugees.

4. Which one of the following is a concern under Traditional Security ? 1
(a) Attack by a neighbouring country
(b) Spread of any pandemic disease
(¢) Global warming

(d) Spread of terrorism
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5. frefafad gamemi § 9w dfeas are 12 7 ?

(a) UreTehidehT (b) EHI TR
(c) @l Irafer (d) e

6. frmfefea & & = a1 e “Auefiertor & TR T TE 8 ?
(a) Aeefopor afgeriero 2 |
(b) SR SRR 7 |
(c) et amffes gfg 7 |

(d) AvTRTUT Tk FEITRATHT TTLROT 2 |

7. -y fagra e weqa foram e, foraes smor forfest v ot fervmem gam ¢

(a) TG THFRR W (b) e
(c) forfem wwhR () O

8. TS AT 1 T freferRaa & & ferares gr gam e ¢
(a) YRA % HiAUE gRT |

(b) WRA % TFfd g |

(¢) YTd TLhR o Ush T&ITd g7 |

(d) e aaTgRT |
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5.  Which of the following resources is NOT a global common ? 1
(a) Antarctica (b) Ocean floor
(¢) Outer space (d) Forests

6.  Which of the following statements is TRUE about globalisation ? 1

(a) Globalisation is westernisation.
(b) Globalisation is industrialisation.
(¢) Globalisation is economic growth.

(d) Globalisation is a multidimensional phenomenon.

7. Who advanced the ‘Two Nation Theory’ that led to the partition of British

India ? 1
(a) Abdul Gaffar Khan (b) Muslim League
(¢) British Government (d) Congress Party

8. Planning Commission was set up by . 1

(a) Constitution of India
(b) President of India
(¢) aresolution of Government of India

(d) the Constituent Assembly
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9. i feu T g9 | g HUHT I U AR (A) TUT HROT (R) & €9 H 31fehd fera o
2 1 31 YA ol S W ufeu 3 srenfeifad fommed! § @ forelt w1 qei st &9 8
T | 1
ANTHAA (A) : 1969 T HUF I T faTeMq 81 T |
HROT (R) : s fgiene 3R 3fe w1t & o= TTeasit off |
ferepe
(a) YT (A) SH (R) SHI HEN € 3R HR (R) IRIHYUT (A) T Hel HRV E |
(b) MR (A) 3R FRV (R) GHI F&1 &, T HRUT (R) AT (A) T Tt HROT

T

(¢ 3fireer (A) 98 8, WHRW (R) 7T 2 |
(d) FfrERYA (A) TeTd B, W (R) HE 2 |

10. 25 SH, 1975 &I, f=Afafga o 4 fea Jar 3 yamw=i sfeu wreh & <mma & fog

TSI FATE hl S9or <6t oft ? 1
(a) WS CETE (b) YR TRIIT
OREIERTIE] (d) 7ea fogrt arereh

11. FraferRad aemai s Seshaar saferd HI ; 1

() TS AN hY FwTRET 1 ST T |

(i) THTE ToE 1 el IR TUEEEl &9 |
(iil) SRTIETE o T USTS THSAT 9L EE1EH |
(iv) Tt el 1 gEmE=t &9 |

& fashed 9w |
(@) @), (i), (v) 7T (ii) (b)  (@v), (iii), () 7T (i)
(¢) (i), (iv), (@) 7T (ii) (d)  @Gv), (@), (i) 7T (i)

12. 37 T Sfo o ferg smegon 6t Hifa = ge@t wget frafofea 9 & frem e feemen 7 1

(a) Y 3 (b) @@ HEd
(c) s i d) HrETEdR
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9. In the question given below, there are two statements marked as

Assertion(A) and Reason (R). 1
Read these statements and choose one correct answer from the given
options.

Assertion (A) : In 1969 the Congress Party faced a split.

Reason (R) : Factional rivalry existed between the Congress Syndicate
and Indira Gandhi.

Options :

(a) Both (A) and (R) are true and (R) is the correct reason of (A).

(b) Both (A) and (R) are true, but (R) is not the correct reason of (A).
(¢) (A) s true, but (R) is wrong.

(d) (A)1s wrong, but (R) is true.

10. Who among the following had announced a nationwide satyagraha on 25th

June, 1975 for the resignation of Prime Minister Indira Gandhi ? 1
(a) Morarji Desai (b) Jayaprakash Narain
(¢) George Fernandes (d) Atal Bihari Vajpayee

11. Arrange the following in chronological order : 1

(1) Implementation of recommendations of Mandal Commission.

(1) Appointment of Manmohan Singh as Prime Minister for the first
time.

(ii1) Signing of the Punjab Accord with Longowal.

(iv) Appointment of Rajiv Gandhi as Prime Minister.
Choose the correct option :

(@) (@), (1), @v), (D) (b) (@), (1), (@), (1)
(¢) (1), @v), (@), (D) (d) Gv), (), (11), (11

12. Who among the following introduced a policy of reservations for OBCs for

the first time ? 1
(a) Karpoori Thakur (b) B.P. Mandal
(¢) Indira Gandhi (d) Mayawati
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13.

14.

15.

16.

17.

18.

19.

20.

21.

Qg -

TR GREAT ST ST hi T HITTT | 2
G Y h el TR Taifai = 7 g 4x V=2
LT 3T 9T o o= graeeq <h forf3mmen o1 Sorr shifS | 2

8T HhR gRT 2014 % S1E ARG o1 UERIA1 T8 3 o fore & fopu 11 femeel
Cl HRIHH] T Jooid hITWT | 2x1=2

T o U & YUAR hl Tga M HIfu N th T A hA g & fu e i@ |1 2x1=2

I o UH < T hl UG HIfT &l b THR bl JTHTEETE ITEIeT T HTHAT

T LT | 3 RIS T Acd i aTet st o 41 o el | 1+1=2
w|ug —
TREITEh AT T 3T @k & e o forw 1E <t sum ggmsd | 2x2=4

“SvefieRtur I=Td FTENTiTeh o1 2t weh TR 2 |7 31 ISTEtu ot HErdr § e i g hifu |

2x2=4

“ferehTe <1 WSk SIT: WRITeoT <1 BT ugadt & 12 Tl @ uaiawefia srier < dwed
T HYA I ARET 3EU | 2x2=4
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SECTION - B
13. Explain the notion of traditional security. 2
14. Name any four agencies of the United Nations. 4xY%=2
15. Highlight the speciality of India — Nepal relations. 2

16. State any two programmes launched by the NDA government after 2014

for women’s help and progress. 2x1=2

17. Identify and name of any two Prime Ministers of India who remained in

power for less than a year. 2x1=2

18. Identify any two states where the Central Government had to
face separatist movements. Also name the leaders who led these

movements. 1+1=2

SECTION - C
19. Suggest any two measures to deal with threats to the traditional security.

2x2=4

20. “Globalisation is the outcome of developed technology.” Support the

statement with two examples. 2x2=4

21. “Development mostly causes degradation of environment.” Justify the

statement referring to two environmental movements. 2x2=4
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22. A 3R YIRS o S TEa=E] o1 YoaTehl SETEW <h! HETIdT & HITT | 4

23. 1975 H €Y JTUTdehTeT o his IR 9T T8 HIfST | 4x1=4
Qug — |

24. = feu mu srerd w1 e 9 ufed 3t stenfafad ge & s i 4x1=4

“Td 3 g TETY] Teg01 fohu 37 g STaren fob 3qeh 418 =7 32991 o fetw srvpifaa
T T T SHAT B | 56 0 ST b ofY werey wdhiegor fopu | srrigi farred
3 S W $w wfaey o f9=2 s1e # et form e | YRa 3 ) STvER A ARt %
fortrer fopam 1

(24.1) a4 fore o g wATY] wWieror Sy 7

(@) 1971 (b) 1985
(c) 1992 (d) 1998

(24.2)  Fr=ferfaa @ @ @ af? i g e w ara 3 gwamer #6956 fean
(a) A9 RHTY] Uteqor gfcee wfr
(b) T T
OBRELISECEI]
(d) e et wf

(24.3) YN T YA W] Sofl bl SAFTARGAT AT
(a) =gl 3ewai < fere
(b) TTHTY SH S o o1
(c) eI | YehTarel ohid o foTu
@) 3 Teen & fog

(24.4) A A Terereh ATTEM T 3794 TRHT] HTIshH hl I fohaT o7 2
(a) #E wH (b) B ST, T
(¢ TS, 37ega waA™ (d) . HERTH
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22. Evaluate the relationship between India and Pakistan with the help of

examples. 4
23. Explain any four effects of the Emergency declared in 1975. 4x1=4
SECTION -D
24. Read the following passage carefully and answer the questions that
follow : 4x1=4

India conducted a series of nuclear tests demonstrating its capacity
to use nuclear energy for military purposes. After this, Pakistan also
conducted tests. International Community imposed sanctions on both
India and Pakistan which were subsequently waived. India opposed the
international treaties aimed at non-proliferation.

(24.1) In which year did India conduct series of nuclear tests ?
(a) 1971 (b) 1985
() 1992 (d) 1998

(24.2) Identify the treaty that India refused to sign.
(a) Comprehensive Test Ban Treaty
(b) Shimla Agreement
(c) Panchsheel Agreement
(d) Indus waters Treaty

(24.3) In the beginning, India wanted to generate nuclear energy for

(a) peaceful purpose.
(b) making atomic bombs.
(¢) competing with the super powers.

(d) ensuring its security.

(24.4) Under whose guidance did India initiate its nuclear programme ?
(a) C.V.Raman (b) Homi J. Bhabha
(¢ A.P.J.Abdul Kalam (d) K. Kasturirangan
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25. WA o feu 7T UHifosh W@T-Amfa # =R U1 &1 (A), (B), (C) 3R (D) | g /=
2 | R @ TS IR o MR W 37 TSI <hl TgaM T 7R 3ok T T, T bl
T BRI <1 5hH T qUT THA H 3ifchd Fraf=ard 318R 1 391 ITR-gfegest & =
few wrew # fafew |

@) agrm%nﬁ 379 Tl g, WA &1 ° faverd fepam a2 |

T i TS AHER HY
THH T

gt 18R

ST hl AH

1.

1i.

111.

(i) o8 TST &l “Tsiia Tieft — SATiaTet THeia” T Eeei g |
(i) o8 T FSTEw <Tet ST <1 Fvere o |
(v) & T Tl T FIere STTeIer T g7 7 |
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25. In the given political outline map of India, four states have been marked
as (A), B), (C) and (D). Identify these states on the basis of the
information given below and write their correct names in your answer
book along with the respective serial number of the information used and
the concerned alphabets given in the map as per the format that follows :
4x1=4

Sr. No. of the Concerned Name of
information used Alphabet the State
1.

1i.

1ii.
1v.
(1) The state which has been bifurcated in two Union Territories recently.
(1) The state where Rajiv Gandhi — Longowal Accord was signed.

(111) The state to which Laldenga belonged.

(iv) The state from where the Dravidian Movement started.
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Ate : frmferiaa e e gfeafea adenfeii o fom wee e 25 % W wE 4x1=4
(25.1) HHIATTY YN 370 TR TER ?
(25.2)  TorE TS U@ waHwEt TSfa e 6 g g8 off ¢
(25.3) 1966 T fore U= 1 VTR STTER W TfSa feham T o 2
(25.4) TG ST A foh® TS ¥ STTIEETET STTGIei Shl edl feha o ?

26. = feu Tu 1 1 eaHgdes 3rereH Hifore 3R Anfeafgd sk s fefen | 4x1=4

() 37N AT b Ty frfeifga @ fraqma R 2
(a) SMHHE b) foadm
(c) e it (@ ==
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Note: The following questions are only for the Visually Impaired
Candidates in lieu of Q. No. 25. 4x1=4

(25.1) Article 370 has been abolished from which State ?

(25.2) In which State was the former Prime Minister Rajiv Gandhi
assassinated ?

(25.3) Which State was created on language basis in 1966 ?

(25.4) In which state did Laldenga lead a separatist movement ?

26. Study the given cartoon carefully and answer the questions that follow : 4 x 1 =4

(1) To which country are these two cartoons related ?
(a) dJapan (b) Vietnam
(¢) South Korea (d) China
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(i) e ferarer o1 gy forg fmmuma @ 7
(a) SfTe (b) ETETE
() HHeETg (d) ATdHaTE

(iii) dofioed 2TE o1 o AR R 7
(a) TTRETE Sl THTAT

(b) IShraTe ot TlehRAT
(c) UTIaTE refeawer 1 UsfiaTe & areHd
(d) IShaTe ST TR

(iv) TSN o TR W G’ 37 T T 1 AR 7
(a) ‘Ao H framymT H ‘IS FRA TR |
(b) T IR ‘I FHAFATE 2 |
(¢) “TE’ o IFAaTd a1 IR ‘IS o JT=qId JdT STl 3ITAT TSl ITeih gedl 9 7 |
(d) qE % a1 IR ‘3T’ % JqT ITAT-ITAT TSN A E |

e : Frfefaa e Fae givanfera adenfer & e e den 26 FmwE: 4x1=4
(26.1)  wia, ffefaa 8 9 fore foramem =1 rgao Far @ 2

(a) 3CRATE (b) HHTSTETE

(© s (d) =ERE

(26.2) 1982 ¥ far=fetftaa § & s @1 ueh ufterdd =fi9 9 fepan mam ?
(a) 3T <1 Tasfientor femarm T |
(b) T THIfeeh 3T IATRIH TehTdaTd b1 FHT fehat 74T |
(¢ forory smifefer &= wenfi fope o |
(d) M T TSR foka 1T |
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(a) Capitalism (b) Communism

Red Book is related to which ideology ?

(¢ Humanism (d) Terrorism

What does the ‘Red Power Tie” depict ?

(a) Negation of communism

(b) Acceptance of Capitalism

(¢) Coordination of communism with Capitalism

(d) Negation of Capitalism

(iv) What is the difference between ‘then’ and ‘now’ as per the cartoon ?

(a) ‘Rigidity’ has increased now in the ideology of ‘then’
(b) Rigidity has decreased ‘now’ in the ideology of ‘then’.

(¢) The leader under ‘then’ and the leader under ‘now’ belong to
different political parties.

(d) The Leader under ‘then’ and the leader under ‘now’ belong to
different organisations.

Note: The following questions are for the Visually Impaired
Candidates only in lieu of Qn. 26. 4x1=4
(26.1) Which one of the following ideologies is followed by India ?
(a) Liberalism (b) Socialism
(¢) Capitalism (d) Communism

(26.2) In 1982, which one of the following changes was made in

59/2/1

China ?

(a) Privatisation of industries was done.

(b) China ended its political and economic isolation.
(¢) Special economic zones were established.

(d) Privatisation of agriculture was done.
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(26.3) ﬁmﬁﬁﬁﬁﬁaﬁquzﬁq%aﬁﬁaﬁ%?
(a) (U ¢ |
(b) el TAE 2 |
(c) T Sgeeia w12 |

(d) =gl fuefl-gef TR R |

(26.4) TEAfafga d A wH a1 F ey TR S grag A8 8 ?

(@) TITA™ b) T
(c) dTEETSHe @ g
i - &

27. (a) TS % HrHe H Tdl fhgl o Trema o1 fagemu Hifse i@ difoma ga

forares g | 3x2=6
Jtera
(b) Erferd g= o forered o fepeel i aftommi w1 fageiwo hifsw | 3x2=6
28. (a) YU =ENi Ao i fepegl i ferrwanai w1 SR HifT | 3x2=6
teran
(b) TEEFAT % L TG TR ThHR o GHeT foreenfia o o weafra 318 fopegi o
FUETSAT 1 IATR HITT | 3x2=6
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(26.3) Which one of the following statements is true about China ?
(a) Itis arepublic
(b) It is a monarchy
(¢) It has multiparty system

(d) It has a coalition government

(26.4) Which one of the following symbols is NOT related to China ?
(a) The Great Wall
(b) Dragon
(c) Bicycle

(d) Rising Sun

SECTION - E

27. (a) Analyse any three happenings during Gorbachev’s period that led to
the disintegration of the Soviet Union. 3x2=6

OR

(b) Analyse any three consequences of the disintegration of USSR. 3x2=6

28. (a) Highlight any three features of the First Five Year Plan. 3x2=6

OR

(b) Highlight any three problems faced by Government of India
immediately after independence related to the displaced population.
3x2=6
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29. (a)

(b)

30. (a)

(b)
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IRA T SAeha= ! ATed] TEM & H 1975 H S STTUTAshIS & foheal i ToTEl
T 3T HIT | 3x2=6
Jrean

AT 3TU o YA H 3718 Alehd= shl dIF ATgU o THTel o1 ST Il | 3 x 2 =6

<+ Aqea gra =9 % sl fasma % forw 3aTe MU TRl i wedt w1 geieh

I | 3x2=6
e

qirerTeR H W ol Aiehd= % i gHel Sam Aol Tl sE genEt &

forzersor HIfSTT | 3x2=6
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29. (a) Assess any three effects of Emergency imposed in 1975 in

strengthening the democracy in India. 3x2=6
OR
(b) Assess the impact of three democratic upsurges in post independent
India. 3x2=6

30. (a) Evaluate any three steps taken by the Chinese leadership for the
growth of Chinese economy. 3x2=6
OR
(b) Analyse any three major happenings in Bangladesh that show

peoples’ support to democracy. 3x2=6
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